 F/O 12/1 ML
UNCLASSIFIED DEPT Of slafisilcs h Heimen 24 tay oa th. 341 N00014-78-C-0475


$1$

ASYMMETRIC WIENER-POISSON CONTROL

BY

HOWARD WEINER

TECHNICAL REPORT NO. 344
MAY 24, 1984

Prepared Under Contract
N00014-76-C-0475 (NR-042-267)
For the Office of Naval Research
A-1
Herbert Solomon, Project Director

Reproduction in Whole or in Part is Permitted for any purpose of the United States Government

Approved for public release; distribution unlimited.
DEPARTMENT OF STATISTICS
STANFORD UNIVERSITY
STANFORD, CALIFORNIA

```
    Asymmetric Wiener-Poisson Contral
    by Howard Weiner
University of California, Davis and Stanford University
```


## 1. Introduction

Let $W(t), t \geq 0, W(0)=0$ be a standard Wiener process, independent of $N(t), t \geq 0, N(0)=0$ a Poisson process with constant unit jumps, and $\operatorname{EN}(t)=\lambda t, \lambda>0$. Let their sigma fields be $F(t)=\sigma(W(s), 0 \leq s \leq t)$ and $G(t)=\sigma(N(s), 0 \leq s \leq t)$. Let a stochastic process $X(t)$ be defined in terms of $u(t) \equiv u(t, X(t))$, a non-anticipating control, and $W(t), N(t)$, for $0 \leq t \leq T, T>O$ a constant, by the equation

$$
\begin{align*}
d X(t) & =u(t) d t+d W(t)+d N(t)  \tag{1}\\
x(0) & =x, \text { constant }
\end{align*}
$$

where

$$
u(t) \text { is measurable with respect to } \sigma(F(t) \cup G(t)) \text {, }
$$

(i.e. u is non-anticipative), and
satisfies for constants $A, B>0$,

$$
\begin{equation*}
|u-A| \leq B \quad \text { all } 0<t \leq T \tag{2}
\end{equation*}
$$

The cost function for a given $u$ satisfying (2), is, for $\alpha>0$.

$$
\begin{equation*}
J(u)=\int_{0}^{T} e^{-\alpha y} E\left(x^{2}(y)\right) d y \tag{3}
\end{equation*}
$$

The object of this paper is toexhbic sufficient conditions so that a solution of a resultant Bellman equation yields an optimal admissible control $u_{0}(t), 0 \leq t \leq T$ which minimizes (3). The sufficient conditions are that the solutions to two homogeneous, constant coefficient partial differentialdifference equations have solutions of certain growth, and that the Bellman function satisfy certain matching and boundary conditions.

The method follows Ref. 1. See also Ref. 3.

## 2. Finite Interval Control

Lemma 1 Let $D, \lambda>0, \alpha>0$ be constants.
The partial differential-difference equation in $\nabla(t, x)$ given by

$$
\begin{array}{r}
x^{2}+D \frac{\partial}{\partial x} V(x, t)+\frac{1}{2} \frac{\partial^{2}}{\partial x^{2}} V(x, t)-\alpha V(x, t) \\
-\frac{\partial}{\partial t} V(x, t)+\lambda(V(x+1, t)-V(x, t))=0 \tag{4}
\end{array}
$$

has a particular solution expressible as

$$
\begin{align*}
& J(D, x, t) \equiv \int_{0}^{t} e^{-\alpha y} E(D y+N(y)+W(y)+x)^{2} d y= \\
& \frac{x^{2}}{\alpha}\left(1-e^{-\alpha t}\right)+\left(\frac{1-\alpha t e^{-\alpha t}-e^{-\alpha t}}{\alpha^{2}}\right)(\lambda+1+2 D x+2 \lambda x) \\
& +\frac{(D+\lambda)^{2}}{\alpha^{3}}\left(2-2 \alpha t e^{-\alpha t}-2 e^{-\alpha t}-\alpha^{2} t^{2} e^{-\alpha t}\right), \tag{5}
\end{align*}
$$

where $N(y), W(y)$ are as in section 1 .
The differential-difference equation in $V(x)$ given by

$$
\begin{equation*}
x^{2}+D V^{\prime}(x)+\frac{1}{2} V^{\prime \prime}(x)-\alpha V(x)+\lambda(V(x+1)-V(x))=0 \tag{6}
\end{equation*}
$$

has a particular solution expressible as

$$
\begin{align*}
& J(D, x) \equiv \int_{0}^{\infty} e^{-\alpha y} E(D y+N(y)+W(y)+x)^{2} d y= \\
& \frac{x^{2}}{\alpha}+\frac{\lambda+l+2 D x+2 \lambda x}{\alpha^{2}}+\frac{2(D+\lambda)^{2}}{\alpha^{3}} \tag{7}
\end{align*}
$$

Proof The proofs are direct computation upon expansion and
evaluation of (5), (7) respectively.
Remark: The solutions represent the respective costs, if the constant control $u(t)$ D is employed.

Theorem 1. Let $X(L)$ be given, for $0 \leq t \leq T$, by
$d X(t)=u d t+d N(t)+d W(t)$
$x(0)=x$ with assumptions of section $\lambda$,
with cost function, for $0<T<\infty$ constant,

$$
J(u)=\int_{0}^{T} e^{-\alpha y} E\left(X^{2}(y)\right) d y .
$$

The optimal concrol $u_{0}(t)$ which satisfies

$$
\left|u_{0}(t)-A\right| \leq B \quad 0 \leq t \leq T
$$

is given by

$$
u_{0}(t)= \begin{cases}A-B & \text { if } X_{0}(t) \geq b(T-t)  \tag{8}\\ A+B & \text { if } X_{0}(t)<b(T-t)\end{cases}
$$

where

$$
d x_{0}(t)=u_{0} d t+d N(t)+d W(t)
$$

and it is assumed that $b(t)$ satisfies transcendental equations (13), (20)-(21), given below.

Proof. The Bellman equation for

$$
\begin{equation*}
v(t, x)=\inf _{|u-A| \leq B} \int_{0}^{t} e^{-\alpha y} E\left(X^{2}(y)\right) d y \tag{9}
\end{equation*}
$$

with $\mathrm{X}(0)=\mathrm{x}$
is seen by heuristics or from Ref. 2 pp. 179-180 to be, where now $\frac{\partial}{\partial x} v \equiv v_{x}, \frac{\partial^{2}}{\partial x^{2}} v \equiv v_{x x}$, etc.,

$$
\begin{gather*}
x^{2}+\inf _{|u-A| \leq B}\left(u v_{x}(x, t)\right)+\frac{1}{2} v_{x x}(x, t)-\alpha V(x, t) \\
-v_{t}(x, t)+\lambda(V(x+1, t)-V(x, t))=0 \tag{10}
\end{gather*}
$$

Intuitive considerations suggest that a function $b(t)$ be sought such that
$V_{1}(x, t)$ satisfies

$$
\begin{align*}
x^{2}+(A-B) V_{x}(x, t) & +\frac{1}{2} V_{x x}(x, t)-\alpha V(x, t)-V_{t}(x, t) \\
& +\lambda(V(x+1, t)-V(x, t))=0  \tag{11}\\
& \text { if } V_{x}(x, t)>0 \text { and } x>b(t)
\end{align*}
$$

and $V_{2}(x, t)$ satisfies

$$
\begin{align*}
x^{2}+(A+B) V_{x}(x, t) & +\frac{1}{2} V_{x x}(x, t)-\alpha V(x, t)-V_{t}(x, t) \\
& +\lambda(V(x+1, t)-V(x, t))=0  \tag{12}\\
& \text { if } V_{x}(x, t)<0, \text { and } x<b(t)
\end{align*}
$$

The boundary conditions are, for $0 \leq t \leq T$,

$$
\begin{align*}
& v_{1}(x, 0)=V_{2}(x, 0)=0 \text { all } x, \\
& \frac{\partial}{\partial x} v_{1}(b(t), t)=\frac{\partial}{\partial x} V_{2}(b(t), t)=0 \\
& V_{1}(b(t), t)=V_{2}(b(t), t) \tag{13}
\end{align*}
$$

By Leama 1, $J(A-B, x, t), J(A+B, x, t)$ are particular solutions of (11),
(12) respectively.

Assumption 1. There is a non-zero solution $H_{1}(x, t)$ to (omitting ( $x, t$ ) arguments)

$$
\begin{equation*}
(A-B) H_{x}+\frac{1}{2} H_{x x}-\alpha H-H_{t}+\lambda(H(x+1, t)-H)=0 \tag{14}
\end{equation*}
$$

such that

$$
\begin{align*}
& H_{1}(x, 0)=0  \tag{15}\\
& H_{1}(x, t, y)=O\left(e e^{\beta x}\right) \\
& H_{1, x x}(x, t)=O\left(e^{-8 x}\right) \tag{16}
\end{align*}
$$

for some $\beta>0, \delta>0$, each $t$, as $x \rightarrow \infty$.
Also, there is a non-zero solution $H_{2}(x, t, y)$ with

$$
H_{2}(x, 0)=0
$$

to

$$
\begin{equation*}
(A+B) H_{x}+\frac{1}{2} H_{x x}-\alpha H-H_{t}+\lambda(H(x+1, t)-H)=0 \tag{17}
\end{equation*}
$$

such that

$$
\begin{align*}
& H_{2}(x, t)=O\left(e^{\gamma x}\right)  \tag{18}\\
& H_{2, x x}(x, t)=O\left(e^{\lambda x}\right) \tag{19}
\end{align*}
$$

for some $y>0, \lambda>0$, each $t$, as $x \rightarrow \infty$.

Then one has

$$
\begin{align*}
& V_{1}(x, t)=J(A-B, x, t)+H_{1}(x, t)  \tag{20}\\
& V_{2}(x, t)=J(A+B, x, t)+H_{2}(x, t) \tag{21}
\end{align*}
$$

and $b(t)$ is determined by (13), (20)-(21).

Lemma 2

$$
v_{x x}(x, t) \equiv \begin{cases}v_{1, x x}(x, t)>0, & x>b(t)  \tag{22}\\ v_{2, x x}(x, t)>0, & x<b(t)\end{cases}
$$

Proof Let $W(x, t)=V_{x x}(\dot{x}, t)$.
Then from (11), (12),

$$
\begin{gather*}
(A-B) W_{x}(x, t)+\frac{2}{2} W_{x x}(x, t)-(\alpha+\lambda) W(x, t) \\
-W_{t}(x, t)=-2-\lambda W(x+1, t)  \tag{24}\\
x>b(t)
\end{gather*}
$$

$(A+B) W_{x}(x, t)+\frac{1}{2} W_{x x}(x, t)-(\alpha+\lambda) W(x, t)$

$$
-W_{t}(x, t)=-2-\lambda W(x+1, t)
$$

$\mathrm{x}<\mathrm{b}(\mathrm{t})$
By construction of $V_{1}(x, t), V_{2}(x, t)$ in $(14)-(21), W(x, t)=V_{x x}(x, t)>0$ for each $t$, for all $x$ sufficiently large.

Suppose there is an $x_{0}$ finite, possibly depending on $t$, such that $W\left(x_{0}, t\right)<0$, and $W(x, t) \geq 0, x>x_{0}$.

Then the left sides of (24), (25) are negative for $x>x_{0}-1$. By ref. 4, Lemas 1, p. 34, $W(x, t)$ cannot have a negative minimum for $x>x_{0}$ - 1. But since $: f\left(x_{0}, t\right)<0$, and $W(x, t) \geq 0, x>x_{0}, W(x, t) \geq 0, x \rightarrow-\infty$, then $W$ would have negative minimum for $x>x_{0}-1$, a contradiction to the existence of $x_{0}$, hence Lemma 2 is proved.

To complete the proof it is required to show that $u_{0}(t), 0 \leq t \leq T$ is optimal, given as a separate lemma.

Lemma 3. $u_{o}(t)$ of (8) is optimal.
Proof Define for an admissible $u$, where $|u-A| \leq B$,

$$
\begin{aligned}
& d X(t)=u d t+d N(t)+d W(t) \\
& X(0)=x
\end{aligned}
$$

and let
or

$$
\begin{align*}
& H(X(t), t) \rightrightarrows \begin{cases}e^{-\alpha t} V_{1}(X(t), T-t) & \text { if } X(t)>b(T-t) \\
e^{-\alpha t} V_{2}(X(t), T-t) & \text { if } X(t)<b(T-t)\end{cases} \\
& H(X(t), t)=e^{-\alpha t} V(X(t), T-t) \tag{26}
\end{align*}
$$

Using Ito's formula, (Ref. 2, p. 126)

$$
\begin{equation*}
H(X(T), T)=0, \quad H(X(0), 0)=V(x, T), \tag{27}
\end{equation*}
$$

one abtains that, upon integrating from 0 to $T$,

$$
\begin{align*}
\int_{0}^{T} e^{-\alpha y}\left(X^{2}(y)\right) d y & -V(x, T)=\int_{0}^{T} e^{-\alpha y}\left(-\alpha V(X(y), y)-V_{t}(X(y), y)\right. \\
+u(X(y), y) & \left.V_{x}(x(y), y)+x^{2}(y)+\frac{1}{2} v_{x x}(X(y), y)\right) d y \\
& +\int_{0}^{T} e^{-\alpha y}(V(x(y), y) d N(y) \\
& +\int_{0}^{T} e^{-\alpha y} V_{x}(X(y), y) d W(y) . \tag{28}
\end{align*}
$$

Upon taking expectations in (28), one obtains

$$
\begin{aligned}
& \int_{0}^{I} e^{-\alpha y} E\left(X^{2}(y)\right) d y- V(x, T)= \\
& E \int_{0}^{T} e^{-\alpha y}(-\alpha V(X(y), y)-v_{t}(X(y), y)+{\underset{\mid n f}{|u-A| \leq B}\left(u(X(y), y) v_{x}(X(y), y)\right)} \\
&+X^{2}(y)+\frac{1}{2} v_{x x}(X(y), y)+ \\
&+\lambda(V(X(y)+1, y)-V(X(y), y)) d y
\end{aligned}
$$

$$
\begin{equation*}
+E \int_{0}^{T}\left[u(X(y), y) v_{x}(X(y), y)-\inf _{\mid u-A!\leq B}\left(u(X(y), y) v_{x}(X(y), y)\right)\right] d y \tag{29}
\end{equation*}
$$

The first integral on the right side of (29) is zero by (10), and the second integral on the right is non-negative, with equality for $u=u_{0}$. Hence

$$
\begin{equation*}
\int_{0}^{T} e^{-\alpha y} E\left(X^{2}(y)\right) d y \geq V(x, T) \tag{30}
\end{equation*}
$$

for any admissible $u$, and

$$
\begin{equation*}
\int_{0}^{T} e^{-\alpha y} E\left(x_{0}^{2}(y)\right) d y=V(x, T) \tag{31}
\end{equation*}
$$

for $u=u_{0}$, so that $u_{0}$ is optimal.
Remark: There is no claitil that $u_{0}$ above is unique.

## 3. Infinite Interval Control

Theorem 2. Let $X(5)$ be given by

$$
d X(t)=u d t+d N(t)+d W(t)
$$

for all $t>0$, and $X(0)=x$, satisfying the assumptions of section 1
with cost function

$$
\begin{equation*}
J(u)=\int_{0}^{\infty} e^{-\alpha y} E\left(x^{2}(y)\right) d y \tag{32}
\end{equation*}
$$

The optimal control $u_{0}(t)$ which satisfies

$$
\left|u_{0}(t)-A\right| \leq B \text { all } t>0 \text { is }
$$

given by

$$
u_{1}(t)= \begin{cases}A-B & \text { for } X_{1}(t)>b  \tag{33}\\ A+B & \text { for } X_{1}(t)<b\end{cases}
$$

where

$$
d X_{1}(t)=u_{1} d t+d N(t)+d W(t)
$$

and it is assumed that $b$ is a constant which satisfies trancendental relations (38)-(42).

Proof The Bellman equation for

$$
\begin{equation*}
V(x) \inf _{|u-A| \leq B} \int_{0}^{\infty} e^{-\alpha y_{E}\left(X^{2}(y)\right) d y} \tag{34}
\end{equation*}
$$

with $X(0)=x$
is (Ref. 2, pp. 179-180)

$$
\begin{equation*}
x^{2}+\inf _{|u-A| \leq B}\left(u V^{\prime}(x)\right)+\frac{1}{2} V^{\prime \prime}(x)-\alpha V(x)+\lambda(V(x+1)-V(x))=0 \tag{35}
\end{equation*}
$$

A solution of the following form is sought. $V_{1}(x)$ satisfies

$$
\begin{equation*}
x^{2}+(A-B) V^{\prime}(x)+\frac{1}{2} V^{\prime \prime}(x)-\alpha V(x)+\lambda(V(x+1)-V(x))=0 \tag{36}
\end{equation*}
$$

$$
\text { for } V^{\prime}(x)>0, x>b
$$

and $V_{2}(x)$ satisfies

$$
\begin{equation*}
x^{2}+(A+B) V^{\prime}(x)+\frac{1}{2} V^{\prime \prime}(x)-\alpha^{V}(x)+\lambda(V(x+1)-V(x))=0 \tag{37}
\end{equation*}
$$

where

$$
V^{\prime}(x)<0, x<b
$$

The matching conditions are

$$
\begin{align*}
& v_{1}^{\prime}(b)=v_{2}^{\prime}(b)=0 \\
& v_{1}(b)=v_{2}(b) . \tag{38}
\end{align*}
$$

By Lemma $1, J(A-B, x)$ is a particular solution to (36) and $J(A+B, x)$ is a particular solution to (37). A solution to the homogeneous parts of (36),(37) is obtained as follows: let

$$
\begin{equation*}
f(r)=r^{2}+2(A-B) r-2(\alpha+\lambda)+2 \lambda e^{r} \tag{39}
\end{equation*}
$$

and

$$
\begin{equation*}
k(r)=r^{2}+2(A+B) r-2(\alpha+\lambda)+2 \lambda e^{r} \tag{40}
\end{equation*}
$$

Since $f(0)=k(0)=-2 \alpha<0$, and $f(-\infty)=+\infty, k(\infty)=+\infty$, there exist $r_{1}<0, r_{2}>0$ such that $f\left(r_{1}\right)=k\left(r_{2}\right)=0$.

Hence a solution to (36) is

$$
v_{1}(x)=J(A-B, x)+C e^{r} 1^{x}
$$

for $\mathrm{x}>\mathrm{b}$
and $V_{2}(x)=J(A+B, x)+D e^{r} 2^{x}$
for $x<b$,
and it is assumed that constants $C, D, b$ are determined by conditions (38). It is required to show that (41), (42) solve the Bellman equation; that is, that (36), (37) hold.

Lemma 4. The function $V(x)=\left\{\begin{array}{l}V_{1}(x), x>b \\ V_{2}(x), x<b\end{array} \quad\right.$ of (41), (42) satisfying (38) is a solution to the Bellman equation (36)-(37).

Proof Since $V_{1}^{\prime}(b)=V_{2}^{\prime}(b)=0$, it suffices to show that $V_{1}{ }^{\prime}(x)>0$ for $x>b$ and $V_{2}^{\prime}(x)<0$ for $x<b$. For this it suffices to show that $V^{\prime \prime}(x)>0$ all $x \neq b$. Let $w(x) \equiv V^{\prime \prime}(x)$ and from (36), (37), one obtains that

$$
\begin{equation*}
(A-B) w^{\prime}(x)+\frac{1}{2} w^{\prime \prime}(x)-(\alpha+\lambda) w(x)=-2-\lambda w(x+1) \tag{43}
\end{equation*}
$$

and
for $\mathrm{x}>\mathrm{b}$

$$
\begin{equation*}
(A+B) w^{\prime}(x)+\frac{1}{2} w^{\prime \prime}(x)-(\alpha+\lambda) w(x)=-2-\lambda w(x+1) \tag{44}
\end{equation*}
$$

for $x<b$.
By construction of the solution in (39)-(42),
$w(x)>0$ for all $x$ sufficiently large.
Suppose there is an $x_{0}$ such that $w\left(x_{0}\right)<0$ and $w(x)>0, x>x_{0}$.
Then the right sides of (43), (44) are negative for $x>x_{0}-1$, and hence the left sides of (43),(44) are negative for $x>x_{0}-1$. By Ref. 4, p. 53, Theorem 19, $w(x)$ cannot have a negative minimun for $x>x_{0}-1$, a contradiction to the existence of $x_{0}$ such that $w\left(x_{0}\right)<0$. This suffices to prove Lemma 4. To complete the proof of Theorem 2 it remains to show that $u_{1}(t)$ of (33) is optimal.

Lema $5 \mathrm{u}_{1}(\mathrm{t})$ is optimal.
Proof For a fixed $u,|u-A| \leq B$, let

$$
\begin{aligned}
& d X(t)=u(t) d t+d W(t)+d N(t) \\
& X(0)=x
\end{aligned}
$$

and define

$$
H(X(t), t) \equiv V(X(t)) e^{-\alpha t}=\left\{\begin{array}{l}
V_{1}(X(t)) e^{-\alpha t}, X(t)>b  \tag{45}\\
V_{2}(X(t)) e^{-\alpha t}, X(t)<b .
\end{array}\right.
$$

Noting that $H(X(0), 0)=V(x)$, an application of Ito's formula (Ref. 2, p. 126) yields, upon subsequent integration from 0 to $t$,

$$
\begin{align*}
& \int_{0}^{t} e^{-\alpha y}\left(X^{2}(y)\right) d y+e^{-\alpha t} V(X(t))-V(x)= \\
& \int_{0}^{t} e^{-\alpha y}\left(-\alpha V(X(y))+u(X(y)) V^{\prime}(X(y))+X^{2}(y)+\frac{1}{2} V^{\prime \prime}(X(y)) d y\right. \\
& +\int_{0}^{t} e^{-\alpha y}\left(V(X(y)) d N(y) \quad+\int_{0}^{t} e^{-\alpha y^{\prime}} V^{\prime}(X(y)) d W(y)\right. \tag{46}
\end{align*}
$$

Upon taking expectations in (46), one obtains

$$
\begin{align*}
& \int_{0}^{t} e^{-\alpha y} E\left(X^{2}(y)\right) d y-e^{-\alpha t} E V(X(t))-V(x)= \\
& E \int_{0}^{t} e^{-\alpha y}\left(-\alpha V\left(X(y)+\operatorname{lnf}_{!u-A \mid \leq B}^{\inf } u(X(y)) V^{\prime}(X(y))+X^{2}(y)\right.\right. \\
& +\frac{1}{2} V^{\prime \prime}(X(y))+\lambda(V(X(y)+1)-V(X(y))) d y \\
& +E \int_{0}^{t} e^{-\alpha y}\left(u(X(y)) V^{\prime}(X(y))-\underset{\mid u-A!\leq B}{\text { inf } u(X(y)) V^{\prime}(X(y)) d y}\right. \tag{47}
\end{align*}
$$

The first term on the fight of (47) is zero by definition of $V$ in
(35)-(37). The second terri on the right is non-regative.

By construction of $V(x)$ in (39)-(42), for $t$ large,

$$
\begin{equation*}
E V(X(t)) \leq K E(x+N(t)+W(t)!+(|A|+B) t)^{2} \leq M t^{2}, \tag{48}
\end{equation*}
$$

for suitable constants $K$, M.

Hence, letting $t \rightarrow \infty$ in (47), in view of (48) one obtains that

$$
\begin{equation*}
\int_{0}^{\infty} e^{-\alpha y} E\left(X^{2}(y)\right) d y \geq v(x) \tag{49}
\end{equation*}
$$

with equality if $u=u_{1}$ and $X(t)=X_{1}(t)$, hence $u_{1}(t)$ is optimal. This completes Theorem 2.

## REFERENCES

1. KARATZAS, I., Optimal Discounted Linear Control of the Wiener Process, this Journal, Vol. 3I, No. 3, pp. 431-440, 1980.
2. GILMAN, I.I. and SKOROZOD, A.V., Controlled Stochastic Processes (English Translation), Springer-Verlag, New York, New York, 1979.
3. BENES, V.E., SHEPP, L.A. and WITSENHAUSEN, H.S., Some Solvable Stochastic Control Problems, Stochastics, No. 4, Pp. 39-83, 1980.
4. FRIEDMAN, A., Partial Differential Equations of Parabolic Type, Prentice-Hall, Inc., Englewood Cliffs, New Jersey, 1964.

UNCLASSIFIED
SECURITYCLASSIFICATION OF THIS PAGE (When Dete Enterod)

| REPCRT DOCUMENTATION PAGE | READ INSTRUCTIONS <br> BEPORE COMPLETNG FORM |
| :---: | :---: |
| 1. REPOAT NUMBER <br> 344$\quad$2. GOVT ACCESSIOM NO | 3. RECIMENT'S CATALOG NUMBER 2 |
| 4. TITLE (and Subilte)Asymmetric Wiener-Poisson Control | 3. TyPE of REPORT A PERIOD COVERED TECHNICAL REPORT |
|  | 6. Performing org. report numien |
| 7. AUTHOR(a) <br> Howard Weiner | $\begin{aligned} & \text { 8. CONTRACT OR GAANT NUMSEA(G) } \\ & \text { N00014-76-C-0475 } \end{aligned}$ |
| 9. performing organization name ano aodress <br> Department of Statistics <br> Stanford University <br> Stanford, CA 94305 | ```10. PROGGAM ELEMENTPROJECT. TASK NR-042-267``` |
| i1. CONTROLLING OFFICE NAME ANO ADORESS <br> Office of Naval Research <br> Statistics \& Probability Program Code 411SP | 12. REPONT DATE <br> May 24,1984 <br> 13. NUMUEE OFPAGES <br> 16 |
| 14. MONITORING AGENCY NAME A ADORESS(II dilltornit frome Controlling Offlee) | 15. SECURITY CLASS. (ol imis fopore) UNCLASSIFIED |
|  | 180. OECLASSIFICATION/DOWNGAMDING |

APPROVED FOR PUBLIC RELEASE: DISTRIBUTION UNLIMITED
17. DISTMIBUTION STATEMENT (Of the ebotract entered in Block 20, 11 dilformit from Ropori)
18. SUPPLEMENTARY NOTES
19. KEY wOROS (Centinue on peverse alde If neeeenery and fivnalfy by bieek mimber)

Stochastic Wiener-Poisson bang-bang control, Partial difference-differential, Bellman equation, Ito rule

〕A one-dimensional Wiener plus independent Poisson control problem with asymmetric constant bounds on the control and integral discounted quadratic cost function is considered. The resultant Bellman equation is solved when two homogeneous partial differential-difference equations are solvable and when the Bellman function satisfies certain matching and boundary conditions. These sufficient conditions would allow the optimal control to be expressed in bang-bang form.


